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Cluster: 0220 ptr; resid: 0.29; r/c: 30/83

x.range

upstream meme PSSM #1; e=4.3e+03

1 3 5 7 9 11 13 151 3 5 7 9 11 13

x.range

y.
ra
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e

upstream meme PSSM #2; e=2e+04

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16
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10068

9709

14529

2065744603

8747
49229

10896

13895
22122

32708

34270

35386

35587

3672437295

38124

41038

42282

43233

44999

45190

45465

46376

46608

46930

47103

49779

50215

51837

string −500 −400 −300 −200 −100 −1
37295NA
50215−0.02
46608−0.09
49779−0.13
34270−0.15
43233−0.16
20657−0.22
32708−0.24

9709−0.45
8747−0.47

10068−0.51
36724−0.62
42282−0.77
45465−0.91
46930−1.13
14529−2.24
47103−2.60
22122−2.87
46376−3.28
44999−3.49
41038−3.52
10896−4.07
35587−4.16
49229−4.62
35386−5.09
51837−5.31
44603−5.59
38124−6.58
13895−7.64
45190−7.84

log10(P) upstream meme1 2 log10(P.clust)=−2.58; 30 seqs; 30 uniq
c(0.5, 2.5)
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